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Farmer Frecl sells small containers of his blueberries and rasPBerries at the
farmers' market. He has gathered the Fo”owing information about the number of

cach 1’16 SC”S PCF day:

* At most twice as many blueberries as raspberries. - X = 2y

* A minimum of 200,but not more than 500 raspberries. }/ 220 )& S0o
* Atleast 300 blueberries. X= 300

* At most 1200 containers of berries. r)(+)/ £ 200

[is costs associated with Producing are $0.85 per container of blucherries and

$0.90 per container of mqobcrrics. e sells the bluebarries for $2 .00 cach and

the raspbertes for $a50each. [How many of each does [Tred need to sell in

order to make the w e [
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